ER-IERRREE-RR

SHSFE6ASRRAE
REEE HEHRERIRE

T I T X BRE
KEA™H [~ REHXiE XYl
mRIA EEELH-E | HkEE
X7 (BKE) RERSEHEE |26
(EMKE) |LEREEHEE 169
: — =g ; fR)IRE=8.5, BER)IIR=10.3, Em)IIFti%=13.9, KEH)I|tig=7.6,
/ﬁﬁﬁﬁi*ﬂ%&giﬁ Eﬁéﬁ“liﬁ,ﬁ‘zzzza
8 J. FRIRE=(13, 7.6), BERIIFRIE=(13, 9.2), EM@EIIIFiiE=(13, 12.5),
H#K GRS X% )= (13, 6.8)
BRI T® |
sm4p [SHEHE#E
- T b ) fE £ 20m/s
28, FHAE ELE 20m/s
. fE 20m/s EFES
== 3z 5
RAE FHRE B 20m/s BEHS
= = 7y i 1285 IR E DIFES10cm
o REORZ T 1 2B B E ) E200m
R LD 2.5m
=i B 3.5m
X7 cEmEEiEE (17
TIERSIEHEE 125
+ o e |PR)ITEIE=6.8, BER)IFRE=8.2, E@EIFE=11.1, KXEMB)IIFiE=6,
/)ﬁﬁﬁﬁi*ﬂﬁgé Eﬁ%ﬁ“lﬁﬁZWB
N . FRINFRE=(13, 5.4), BERJIIFRE=(8, 8.2), EMEIIFiEL=(8, 11.1),
K LEE X% B IIFi= (13, 6), MerIIFeii=(14, 14.2)
BEMIGEKRFR |_
IZkBEHE
W . fEE 12m/s
SR A T RE HE 12m/s
: o . fEE 12m/s BFH#ES
ne FHEE B Tom/s BEMES
= - i 12058 E E D FES3cm
XE REOR T 125G E ) & 50m
EER R AEES 1.5m
=i AL 3.2m
& BFEZICIYBELNTEINDEE
BE
. o fEE 100m
p-—+ 1Ri2 B 500m
BrI% &/NBE40% T, ENEE60%
BEEDFES100cmU LT, ZROWThH
BER 1 RBCLLEDIFR
1= 2 EREZCLEBEM
3 BEEDFEZ30cmll E
&8 B PELYTHREICLUEENBASEHN %, SOI2B U EFKETEShEISE
o RN R S CTRIESEA-4CU T E = ITHEL-TCLLT
= 11A20BETOEFR.3AISENLDIGTE RIEKEICLUT
EK-ES AEZHIEROEHT T, UE-2°C~2°C. iEEI0%LLE

(5o R R0 R P Rl A R TR 2R

1 E#Faﬁl"ﬁ% [110mm

NREREEY AEFEEY OMAShEICkIREBEERLTVET,




